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Glycolysis occurs in:
a. Cytoplasm b. Nucleus
c. Mitochondria d. Ribosome

High concentration of Glucose 6 phosphate is inhibitory to:

a. Pyruvate kinase b. Hexokinase

¢. Phosphofructokinase I d. All of the above

Number of CO; molecules evolved in glycolysis is:

a. 1

c. 3 d. 0

From each molecule of glucose, how many times does the TCA cycle occur?
a. 1 b2,

c 3 d. 4

The product formed in the first substrate level phosphorylation in glycolysis is:
a. Pyruvate b. 3-phosphoglycerate

c. 1, 3-bisphosphoglycerate d. 2-phosphoglycerate

Which process transports the acyl CoA to mitochondria?

a. Simple diffusion b. Passive transport

¢. Carnitine transport d. Active transport

The free fatty acids are transported by blood association with:

a. Albumin b. A fatty acid binding protein
¢. P-lipoprotein d. None of the above

Where are the enzymes for B-oxidation present?

a. Nucleus b. Cytosol

c. Golgi apparatus d. Mitochondria

Which of the following is the first complex (complex I) of ETS?

a. Cytochrome aas b. Cytochrome bcl

¢. NADH dehydrogenase d. ATP synthasese

For its activity, pyruvate decarboxylase requires:

a. Mg? b. Ca2+

(15 k d. Na*
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